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Part-IV General English

Direction (Q. 66—67): In each of these
questions, choose the word which
expresses the meaning of the word given in
CAPITALS.
66. MORIBUND

(a) stagnant

(b) gloomy

(c) dying
(d) superfluous
67. SOOTHE
(a) agitate (b) perturb
(c) fluster (d) mollify

Directions (Q. 68—69): In each of these
questions, out of the four alternatives,
choose the word opposite in meaning to the
word given in CAPITALS.
68. EPITOME
(a) quintessence (b) paragon
(c) enlargement (d) incarnation
69. GUMPTION
(a) ingenuity (b) stupidity
(c) sagacity (d) acumen
Directions (Q. 70-72): In each of these
questions, a sentence is given with a blank
to be filled in with an appropriate word.
Four alternatives are suggested for each
question. Choose the correct alternative out
of the four alternatives.
70. The waiter hasn’t brought the coffee
I’ve been here for an hour.
(b) yet
(d) till
old friends in

(a) still
(©) up

71. T always fall
times of need.

(a) over (b) through
(c) back on (d) off

72. I prefer milk tea.
(a) than (b) by
(c) to (d) from

Directions (Q. 73-75): In the following
questions, out of the four alternatives
choose the one which can be substituted for
the given words/sentence.
73. Money given to agent on sales

(a) help

(b) commission

(c) assignment

(d) endeavour
74. Lasting one day

(a) Ephemeral

(b) Cynosure

(c) Fragile

(d) Bureaucracy
75. A system of government in which

only one political party is allowed to

function

(a) Oligarchy

(b) Dictatorship

(c) Totalitarianism

(d) Theocracy
Directions (Q. 76-78) : Read each sentence
to find out whether there is any grammatical
error in it. The error, if any, will be in one
part of the sentence. Choose the part with
the error as your answer. If there is no error,

choose ‘No error’ as your answer. (Ignore

the errors of punctuation, if any.)

76. He is (a)/ capable to do this work (b)/
within the stipulated period. (c)/ No
error (d)

77. 1 used (a)/ a pair of trousers (b)/ for a
week. (¢)/ No error (d)

78. One of Mohan's ambitions(a)/ in life
were to visit (b) /all the historic places
in the country. (c)/No error (d)

Directions (Q. 79-82): In these questions,

four alternatives are given for the idiom/

phrase given in bold. Choose the alternative
which best expresses the meaning of the
idiom/phrase given in bold.

79. Fit like a glove
(a) to fit snugly
(b) something tight and sticky
(c) soft and easy to ware
(d) difficult to hold

80. Pull a long face
(a) to make fun
(b) to look sad
(c) to irritate someone
(d) to pull someone’s face

81. Cat nap
(a) take a long sleep
(b) sleep like a cat
(c) make a snoring sound while sleeping
(d) to sleep briefly

82. To flog a dead horse
(a) To act in a foolish way
(b) To waste one’s efforts
(¢) To revive interest in an old effort
(d) None of these

83. The noun form of ‘simple’ is-

(b) Simply

(d) Simplicity

(a) Simple
(c) Simplify
84. The plural form of ‘army’ is-

(a) Armys (b) Armyes
(c) Armies (d) Armmi

85. “Teejan Bai has Sung Many Pandvani
Songs”.

The passive voice of this sentence is

(a) Teejan Bai Song Many Pandvani
Songs

(b) Pandvani Songs have been sung by
Teejan Bai

(¢) Many Pandvani Song had been
Sung by Teejan Bai

(d) Many Pandvani Songs has been
sung by Teejan Bai

86. The Feminine gender of ‘tiger’ is-
(b) Tigress
(d) Tigry

(a) Tigre
(c) She tiger
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87. Choose the Correct Spelling-
(b) Skipture
(d) None of these

(a) Scriptur
(c) Scripeher

Directions (Q. 88-90) : Read the passage
carefully and answer the questions given
below it. Certain words/phrases have been
given in bold to help you locate them while
answering some of the questions.

The villager has customarily been very
conservative in his attitude and approach.
He is reluctant to change his traditional way
of thinking and doing things. His attitude, in
many aspects, is : ‘homemade is best’. For
instance, most cattle-farmers in the villages
prefer to feed their cows and buffaloes with
a home-mix comprising local oilseeds like
mustard or cottonseed, pulses, jiggery, salt
etc. It takes numerous visits, hard-convincing,
daily trials and experience to convince the
rural cattle farmer that compound feeds,
scientifically formulated, improve the yields
of milk, without any incremental costs.

The age-old values and attitude towards
caste, creed, woman, time and money take time
to change. The villager has traditionally been a
believer in the philosophy of ‘karma’ or “fate’.
He has found it more convenient to blame his
economic destitution, poor living conditions
and straitened social status on ‘bhagya’,
‘karma’ or ‘fate’. The security that the villagers
find in the ‘status quo’, acts as a discentive to
change and experiment in the short run. Many
of these antiquated attitudes, value-system and
outlooks are changing, due to improved levels
of awareness and education. However, the rate
of change is sluggish. Attitudes have fossilised
over the centuries, do take time to change.
88. When will you call a person conservative

in his attitude and approach?

(a) When he likes to try out every new
idea before accepting it.
(b) When he sticks to old ways of

thinking and doing.
1. (d) 2.(c) 3.(b) 4. (b)
5. (a) 6. (b) 7. (b) 8. (b)
9. (d) 10. (¢) 11. (a) 12. (d)
13. (b) 14. (a) 15. (d) 16. (a)
17. (d) 18. (a) 19. (a) 20. (d)
21.(b) WM UEC ¥FICHeR WH WA =x

TEA YIS HH G = (x + 2)

(c) When he solves his problems
through tried out methods.

(d) When he imputes motives to change
agents.

89. What does the phrase ‘homemade is

best’ imply?

(a) The best should not be discarded.

(b) Change for the sake of change is
not good.

(c) People should go in for swadeshi
because it is home-made.

(d) Whatever is being practised is better
than what is new.

90. Whatis the best method to convince the

average villager about the superiority of

a new cattle-feed ?

(a) Home visits

(b) Field demonstration

(¢) Discussion

(d) Distribution of related literature
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64. (a) 3BT 2,3, 6 — Ia
SHfA 1, 5, 7 — =gHs
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66. (c) Moribund = in a very bad
condition; dying; no longer effective and about
to come to an end completely.

67. (d) Soothe (Verb) =placate; mollify;
calm; relieve.

68. (c) Epitome (Noun) = a perfect
example of something; embodiment; abstract;
resume, summary.

Enlargement (Noun) = made larger.

69. (b) Gumption (Noun) = courage and
determination; intelligence.

Stupidity (Noun) = behaviour that shows
a lack of good judgement or thought.

70. (b) Yet used in negative sentences to
talk about something that has not happened.

71. (c) Fall back on somebody = to go to
somebody for support

72. (c)

73. (c) Monogamy = the fact or custom
of being married to only one person at a
particular time.

74. (a)

75. (c¢) Theocracy = government of a
country by religious leaders

Totalitarian = a country or a system of
government in which there is only one political
party that has complete power.

Oligarchy = a form of government in
which only a small group of people hold all
the power.

Dictatorship = government by a dictator
= a ruler who has complete power.

76. (b) He is, capable of doing this work
(Gerund) ...... should be used. It is not proper
to use an infinitive here.

77. (a) A habitual action is evident.

Hence, Present Simple i.e., I use ........
should be used. More over as period of time
is evident, I have been using ........ can also
be used.

78. (b)

79. (b) Fit (somebody) like a glove = to
be the perfect size or shape for somebody.

80. (b) Pull a long face = (to have) an
unhappy or disappointed expression.

81. (d) Cat nap = brief sleep

82. (b) To flog a dead horse = to waste
your effort by trying to do something that is
no longer possible.

83. (d) 84.(c) 85.(b) 86.(b) 87.(a)

88. (b) Conservative = opposed to great
social change

Hence, sticking to old ways of thinking
and doing is conservatism.
89. (d) Among the given options, options (d)
is the most appropriate.
90. (a) It is evident in the passage itself.
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(Storage)
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l Storage l
Primary Storage Secondary Storage
-RAM -DVD
-ROM -Hard Disk
-EPROM -USB Flash Drive
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